‘ A ‘ —
, N [ARRRER!
T
PART NO.| A B T A EFR:]
M-2 3.95| 1.4 [M2x0.4P
M-2.6 |5.0| 2.0|M2.6x0.45P
M-3 5.5| 2.7 |M3x0.5P
M-3.5 | 5.9 2.8|M3.5x0.6P
M-4 6.9 | 3.3|M4x0.7P
M-5 8.0 | 4.4 |M5x0.8P
M-6 10.0| 5.0 |M6x1.0P
S4-40 6.4 | 2.5|4—40 UNC
S6-32 79| 3.2|6-=32 UNC




